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Analytical Ability
Section Id : 20996322
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 45
Number of Questions to be attempted : 45
Section Marks : 75
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0

Sub-Section Number :



Sub-Section Id : 209963162
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099631457 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (1 to 20)

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS

Note:  In questions numbered from 1 to 20, a question 1s followed by data i the form
of two statements labelled as (I) and (II). You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the data
make an appropriate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) if the statement (I) alone 1s sufficient to answer the question.

(b) Mark choice (2) if the statement (IT) alone 15 sufficient to answer the question.

(¢) Mark choice (3) if both the statements (I} and (II) are sufficient to answer the
question but nerther statement alone 1s not sufficient.

(d) Mark choice (4) if both the statements (I) and (II) together are not sufficient to

answer the question and additional data are required.
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Sub questions



Question Number : 1 Question Id : 2099631458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DUDS

x 1s an teger. Is x divisible by 18?

x 08 g Doy 18 @3¢ X PAoICIBRITT?
() xisdivisibleby 6. 6 @¢ x erhociercadiood.

(I) x1sdivisible by 27. 27 &¢h x erfocdeacocdiod.

Options :

Question Number : 2 Question Id : 2099631459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS



[s the triangle ABC with sides of length a, b, ¢ an 1sosceles triangle?

0, b, ¢ O e QQK) gthezo ABC &8 il eey Sebio 0adoore?

I) a*+h*=c*
M (a+b-c)=(b+c-a)

Options :

4, % 4

Question Number : 3 Question Id : 2099631460 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS



What 15 the area of the square?

3 58000 TR0 Jo?

(I) The permmeter of the square 1s a multiple of 4.

W00 zﬁ)%})) Sod 4 CBJJSEJ foedeo .

(I The diagonal of the square is 17v2 cm.
S8068%) Do Tad) 1712 do..

Options :
1. %1
2.9 2
3.%3

4, % 4

Question Number : 4 Question Id : 2099631461 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS



Find the greatest of the numbers a. b, ¢ and d.

ab.cd of Q) BT 26 o é&n&ﬁz’od.

O a-40=h=-50
M c-60=d-70

Options :

Question Number : 5 Question Id : 2099631462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS



Find the two digit mumber x.

BocioB o 1 ) sm@fbod.

() The difference between the number x and the one obtained by reversing it
1527,
v dofao o eodry Erthirth dabrio TP S Rt &to 27.
(I) The number 15 greater than 3.
0 o) 5 6 D

Options :

Question Number : 6 Question Id : 2099631463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



Is the positive mteger x 1 divisible by 10 ?

B g P02 x, 10 2% 2Pfod L0

(I) x1s the sum of five consecutive positive ntegers.

9/ AVIVOVARANY ?Q)”g ‘&)0&,3750 AVTPRAS X AP0

(I) x 15 divisible by 4.
4 3% x 2P0 R0,

Options :

Question Number : 7 Question Id : 2099631464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS



Among four friends P, Q, R, S, who 15 the tallest?

Senrdd) D) ardoen P,Q,R, S 0 Tedd 518 260?

(I)  Q1staller than P.
P &) Q TR e,

(I) R 15 shorter than Q, but taller than S.
Q&) RTQTO D S 87) TEDI e,

Options :

Question Number : 8 Question Id : 2099631465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS



What is the value of x% + y% + 2% + 4 ?

X2+ yt+ 2+ t2 Do ot ?

O x+y+z+t=20
(II) xyzt =300

Options :

Question Number : 9 Question Id : 2099631466 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZro% DU



Find the two consecutive natural mumbers.

0 Bt S P Rogfory S:ﬁ)@bo&.

(I)  The difference of squares of the two consecutive numbers 15 201.

03 Boc) R “’cooaaigo g Ao 201,

(I) The numbers are greater than 30.

03 ‘6309_35&0 50 Sél Eag):).

Options :

1.1

4. % 4

Question Number : 10 Question Id : 2099631467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DTS



Find the number of possible values of the natural number n.
A7 o) n & Jodby Deni Ropfd §8) of.

(I) ndvides 31n+2024.
31n + 2024 & n &rAinod.

(II) n s greater than or equal to 1.

n e | SRSV O VAP0 BB

Options :

1.1

4. % 4

Question Number : 11 Question Id : 2099631468 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DTS



What 15 the year of birth of Ramu?

T 3% oo DO

(I) At present Ramu 15 30 years younger to his father

200 U0 0 dogs $T) 30 dosdNTRD W) L.

(I) Ramu’s sister who was born i 1970 15 23 vears 1s younger to her father.
1970 6 )00 Treby cBog) ek 52 ol $5) 25 Roidebyren
)0

Options :

1. %1

Question Number : 12 Question Id : 2099631469 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



A number x 15 what percent of another number y”

2,8 o] 1 908 03y y € ok oo ?

(I) xandy aremntheratio7: 5.

%380 7 ﬁ)iqbegéﬁ eauoro.

M) x=y+40

Options :

4. % 4

Question Number : 13 Question Id : 2099631470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZro% DU



What 15 the sum of two natural numbers?

03 G0c) War® ‘&303,050 2080 Jodd ?

(I)  The sum of those two mumbers added to therr product 15 equal to 402.
% 00t D03V AN ) VEPAS ST 402 ) RAFRIDD.

(1) The two numbers are greater than 3.

&5 Cot) }’003,3563 360 o).
Q

Options :

1.41

4, % 4

Question Number : 14 Question Id : 2099631471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS



Is the mteger K 15 an odd ?

RPGR02 K e 28 Eﬁi)(\)oa)é R0 ?

(I) 5K+ 315 even.
5K + 3 696 }’o@‘:’oomlg.

(I) 4K+ 215 even.
4K 42 036 “é}@‘c’oomlg.

Options :

1.41

4, % 4

Question Number : 15 Question Id : 2099631472 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS



Find the polynomial f{(x) of degree 3 in which coefficient of x° is one.

1 theado 28 i 3. 8618 o f(1) o 4080l

() f(x) leaves remamder | when divided by x - 1
f(2) 0 x- 18 pfose sy i

() f(x) leaves the same remainder | when drvided by x - 2 andx - 3.

flr) & x=2, x=3 oif erflocRiele 8 3o 1 5r0ob.

Options :

Question Number : 16 Question Id : 2099631473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS



What 1s the two digit number?

¢3 Go¢ioSe) ‘rbo&JZS 20 ?

(I) The sum of the two digits 1s 19.

23 Cots0S) b.ne_?o 15.

(IT) The ratio of the two digits 15 3 : 2.
5 GoioSL day8 31 2.

Options :

4. % 4

Question Number : 17 Question Id : 2099631474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency Ggro? DUDS



Is x positive?

xé@ﬁﬁﬁﬂ

D 3x+y>0
) x—y >0

Options :

Question Number : 18 Question Id : 2099631475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS



Find the middle number of 11 consecutive mtegers.

11 6% rghonpe Sy dopfd 08 od.

(I)  The product of the eleven consecutive mtegers is zero.

&5 038 0cd) DR RGR0D VR0 ).

(I)  The sum of those 11 consecutrve mumbers 1s zero.

% 11 50R doafo) dwdo ).

Options :

4, % 4

Question Number : 19 Question Id : 2099631476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS



Are the AABC and APQR of same perimeter?
MBC, APQR &0 R0 96BQ) 90 63 0fF?

(] ZB=/6=90°
(I) AABC and APQR are of same area.
ABC odaty APOR &0 iriios) derford B 637 v,

Options:

Question Number : 20 Question Id : 2099631477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DUDS



Forreal x, 1s|x—4] <3?

ATaky ) ?1)0&35 X 8 [x = 4] < 3 eH)esoone?

O |x+2[>3

M) |x-3|<4
Options :
1. %1
2. % 2
3.¥3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 209963163
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 21 Question Id : 2099631478 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RRIRP] FeD

A. Series (Analogies/a:b::c:d relationships) — Zeavew



AGS:DHI12:CN17:10

) 20
) 24
)
)

40

4. % 4

Question Number : 22 Question Id : 2099631479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY FE

A. Series (Analogies/a:b::c:d relationships) — Zeavew



AHO ELS FMT

120 " 1140 S 1560
L
144
(2) BIP
432
(3) BIP
288
(4) B
576
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 23 Question Id : 2099631480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY

A. Series (Analogies/a:b::c:d relationships) — Zeavew



BEJ (324) : EIM (729) :: - KOS (2025)

Question Number : 24 Question Id : 2099631481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R Fe

A. Series (Analogies/a:b::c:d relationships) — Zeaven



(3,4,73):(4,5,141):: (5, 6,241)

4. % 4

Question Number : 25 Question Id : 2099631482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving PRI P

A. Series (Analogies/a:b::c:d relationships) — Beoen



Options :

1.1

4. % 4

Question Number : 26 Question Id : 2099631483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY

A. Series (Analogies/a:b::c:d relationships) — Zeavew



CHAIR : IRACH :: CROWN :
) WNORC
) WNPCR
) WNOCR
) VNOCR

Options :

1. %1

Question Number : 27 Question Id : 2099631484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R Fe

A. Series (Analogies/a:b::c:d relationships) — Zeaven



AGENT : 25 :: PAINT :

(1) 36
2) 49
(3) 64
4) 8l

Options :

1. %1

2. % 2

3. % 3

4.9 4

Question Number : 28 Question Id : 2099631485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving PRI P

A. Series (Analogies/a:b::c:d relationships) — Been



BIRD : 8= - W
4 4

(1) BATH
(2) CALM

(3) EVEN
(4) DOAR

Options :

4. % 4

Question Number : 29 Question Id : 2099631486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving PRI P

A. Series (Analogies/a:b::c:d relationships) — Beoen



M26L: B 3LEL =8 828) = ¥

(1) 343
(2) 441
3) 225
4) 484

Options :

1. % 1

2. % 2

3. %3

4.9 4

Question Number : 30 Question Id : 2099631487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY FE

A. Series (Analogies/a:b::c:d relationships) — Zeavew



CABLED (DALBEC) : ELOINS (ESOINL) - DEWILY (YELIWD) :
~ (RIGNER)

) HONGR
) HINGER
3) HINGR

(
(
(
(4) HINGOR

Options :

Sub-Section Number : 3
Sub-Section Id : 209963164
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 2099631488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ;‘bsﬁﬁ"}g S

A. Series ( Odd things out) FEeD



84, 120, 92, 105, 104, 85, 118

118

Options :

1.1

Question Number : 32 Question Id : 2099631489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving :‘03503‘35 FE

A. Series ( Odd things out) Bren



2,6,15,28,55,76,119

[ —_
(o al L

e e e
L
N e e
-2 -1
(a8

Options:

Question Number : 33 Question Id : 2099631490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RO e

A. Series ( Odd things out) Frew



Gl R R
(1) 4
@) 7
(3) 25
2
4 1
2
Options :
1. %1
2. % 2
3.% 3
4, % 4

Question Number : 34 Question Id : 2099631491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R s

A. Series ( Odd things out) Frew



MOON, MERCURY, JUPITER, SATURN, MARS, URANUS, NEPTUNE

(1) TUPITER
(2) SATURN
(3) MOON

(4) MERCURY

Options :

4. % 4

Question Number : 35 Question Id : 2099631492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R s

A. Series ( Odd things out) Frew



(1) 13
2) 2
(3) 5
(4) 85
Options :
1.4 1
2. % 2
3. %3
4. % 4
Sub-Section Number : 4
Sub-Section Id : 209963165
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 36 Question Id : 2099631493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fea0ew



35. 48, 80, 120, 168, 224,

(1) 1
(2)
(3)
(4)

VS
N

N

— D
o \D
I~

N

2

Options :

4. % 4

Question Number : 37 Question Id : 2099631494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
FELRD



9,12.6,16.2,19.8,234,27,

) 286
) 302
) 289
() 306

Options :

1. %1

Question Number : 38 Question Id : 2099631495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
FEDRD



362880, 181440, 60430, 15120, 3024, 504,

N —A

Question Number : 39 Question Id : 2099631496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
BLDRW



204, 140, 91, .30, 14,5

(1) 50
2) 55
(3) 60
4) 65

Options

1. %1

2.9 2

3. %3

4. % 4

Question Number : 40 Question Id : 2099631497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
FEDRD



9 81 243 729

57 '2v2 4 42
1) 27

(1) ﬁ

Q) 27

3) 27

4) 27v2

Options :

Question Number : 41 Question Id : 2099631498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Bra0ew



43,83, 4430, 8V15, 4V105,

(1) 884
(2) 840

3) syam
4) 48

3.3

4, % 4

Question Number : 42 Question Id : 2099631499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fea0ew



=2
By

co| wn

S 2

Options :

Question Number : 43 Question Id : 2099631500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fraoen



Question Number : 44 Question Id : 2099631501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fraoen



AD4. ALY, .BB5, BE6, BHY, CB4

(1) Al
() ABS
(3) ABI
(4) AR

Options :

1.4 1

2. % 2

3. %3

4, % 4

Question Number : 45 Question Id : 2099631502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fraoen



7,26, 124, 542, . 2196, 4912

(1) 958
2) 1730
(3) 1431
4) 1330

Options :

1. = 1

2. % 2

3.%3

4. 4

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

5
209963166
No

null

Question Id : 2099631503 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving

B. Data Analysis

:::mao]g e
ATr0% DB



An article 4 15 produced by five machines whose effictencies are shown in the

following table.
th 0o 613 eawd .8 Sy A Sobal & oo i Sob
‘&Jﬁgg AV VO
Machme | No. of articles A produced % of Defective articles
afogo | &0 wawd A S o | Sraidn Sipe B
I 1200 10
M, 900 12
M 960 5
M, 70 15
M 1300 1§

Based on this iformation answer the questions from 46 to 48,

& DRPERo GGt 46 ooC. 48 0 o ) 0 AP,

Sub questions

Question Number : 46 Question Id : 2099631504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis ATr0% DB



Total number of defective articles produced by all the machines 15

o) DTV & 0 &DHFAED SRR Moz

(1) 652
(2) 653
(3) 654
(4) 655

Options :

1. %1

2. % 2

3.3

4. % 4

Question Number : 47 Question Id : 2099631505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R0) D

B. Data Analysis STro% DI



Ratio of defective articles to the ones non defective 1s

J ORI SRDPRD, & ddraui T SYUD o A

) 109:771
) 327:2640
) 109:773
) 321 171

4. % 4

Question Number : 48 Question Id : 2099631506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RBOFY FED

B. Data Analysis Aot DFAes



Approximately what percent of total articles produced are defective?

)3 o) Ao SRS G0 od Fedo Spiden 6o 07

4.9 4

Sub-Section Number : 6
Sub-Section Id : 209963167
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099631507 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (49 to 51)
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving Q0] D

B. Data Analysis S0t DA



The following pie chart shows the percentages of number of students studying five
courses Mathematics (M), Humanities (H), Physics (P), Biology(B), Chemistry (C)
in a college for the year 2023.

& 300 Do w58 swTod’ 20239 Doidey e’ oo Scyen deddo(M),
radah ey (H), 388 70 (P), d@0 (B), 6rabd T30 (C) o
580 e TEOW AP0l

P
15% M

18% LH

Based on the above information, answer the questions from 49 to S1.

D o SERGorP 49 ot 51 968 o 93) 0% AAPTRId).

Sub questions

Question Number : 49 Question Id : 2099631508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis S0t DA

[f the total number of students of that college 15 3800, then how many students are

studying Humanities?

¢ $946" Qudo Derdhe Hoay 3800 eawd, APAMADFFY) YY)

Dw%aw VWA &aucb?

Rt | LA L
Lt D —1
— — -

LS )

e e e P

N
Ly
—

Options :

Question Number : 50 Question Id : 2099631509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis S0t DA

What 15 the sectorial angle m (degrees) corresponding to the number of students

sudymg Physics in that college?

0 STl T8 TP S dovyhe dopydy Ardod g 8o (26

Question Number : 51 Question Id : 2099631510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RB0) FBD

B. Data Analysis ATr0% DB



What 15 the ratio between the number of students studying Physics and the total

mimber of students studying Chemistry and Biology ?

738 T30 59 derow Rop, ChFabd Fo oty & Faren i
DCS“5%JU 2o Roaf& ) iy

4.9 4

Sub-Section Number : 7
Sub-Section Id : 209963168
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099631511 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis S0t DA

A survey conducted on 210 persons about the readership of three datlies I H,J.
revealed the following information.

80 read I, 95 read H, 85 read J. The mumber of people who read H and J'but not I 1s
three times that of who read all the three. The number of people who read only J1s
40. The number of people who read J and I1s 5 more than that who read all the
three. The number of people who read I and H but not J 1s 5 less than that of who
tead all the three.

Using ths mformation answer the followimg questions from 52-53

et 89 xgen L H, T 0o 0t dowoodd 210 dfehe  geroud o

90 6 8o Auirerdo edodod. o 80 08 1) et 95 oot H

S W)@, 85 adod JQ ddyd. H dodafy T s dehagise [ el
70 03] 8R) durGodd k) a0 dopy  durth . | gy ot &7

o 40. 7 ot T oy 63 9 Reay ArGodd) 6 b Do 63 5
Jey . 1oty H oy cddugee T3 70 oay Jrdofi) 98 8
Do 67 5 84y

& RUFTFORR) GARou) 52 Aoc. 55 &5 (o 30 TRt

Sub questions

Question Number : 52 Question Id : 2099631512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RBOF] FED

B. Data Analysis Aot DFEs

The number of people who do not read any of three papers 1s

e B9 DBLVS” DB e B oa

4. % 4

Question Number : 53 Question Id : 2099631513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R0g D

B. Data Analysis Sgro% DFE



The number of people who read all the three 15

) AP DBV DO T°0 08

1) 9
2) 10
3) 1l
@ 12

Options :

1. %1

2.9% 2

3. %3

4, % 4

Question Number : 54 Question Id : 2099631514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RBOFY FED

B. Data Analysis Aot DFAes



The number of people who read only H 15

H & g0 S05a70 Roa
(1) 35
(2) 40
3) 45
4) 50

Question Number : 55 Question Id : 2099631515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis ATr0% DB



The number of people who read only I 1s

[ & Ardan 9bw a0 203

) 60
) 65
) 68
) 69

Options :

1.1

Sub-Section Number : 8
Sub-Section Id : 209963169
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099631516 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving BT s

C. Coding and Decoding Problems
§coh 208ak G0k dRge



Letters of the English alphabet are coded as follows. Denote the letters A, B, C.
..., Lby the mumbers 1, 2, 3, ..., 26.

For 1 <k <13, code k® letter to (27 - k)™ letter, For 14 <k < 26, code K
letter to (k — 13)™letter

Using this coding pattern answer the questions from 56 to 60.

coff Sgire 6 e dod ddore 86 0. Siro O TG A B,
Con ZOD 1,2, 3, .y 26 08 arddociod, 1<k < 130000085000, k &
0sm) (27-k)o wadae 86 dabel. 14<k<26 woudY, k
st (k- 13)3 wgdor 84 Saed.

8 Eof A0 Gaxriod 56 Aoc: 60 80 BirerTliy.

Sub questions

Question Number : 56 Question Id : 2099631517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving BT s

C. Coding and Decoding Problems
§coh 208ak G0k dRge



Code word for SECRET 1s
SECRET cwg), & 550

(1) FVXFVG
(2) FVYEVG
(3) FVXEVG
(4) FVZEVG

Options :

4. % 4

Question Number : 57 Question Id : 2099631518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§coh Bu8at GE Ao DRy



Which word 1s coded as CRIME?
CRIME ™ & 3aHedd Hc0 D6°?

(1) PIVZR
(2) PIVXR
(3) PIYZR
(4) PIVRZ

Options :

1.1

2. % 2

3.% 3

4, % 4

Question Number : 58 Question Id : 2099631519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§coh Bu8ak G Ao DRI



Which word 1s coded as EXTINCT ?
D ¢ EXTINCT e €6 Sohedod?

(1) RCFVMPG
(2) RCGWNPG
(3) RCGWMPG
(4) RCGVMPG

Options :

1. %1

2. % 2

3. %3

4,9 4

Question Number : 59 Question Id : 2099631520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving DB e

C. Coding and Decoding Problems
§coh 208ok a8 doh DR



Code word for ELECTION 1s
ELECTION 0313535 &E Do

(1) VOVYGRBA
(2) VOUXGRBA
(3) VOVXGRBA
(4) VOVXHRBA

Options :

1. %1

2. % 2

3.3

4. % 4

Question Number : 60 Question Id : 2099631521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving SRR

C. Coding and Decoding Problems
§ o B0k AEcoh DRl



Which word 1s coded as DESIGN?
9 9¢3o DESIGN m &6 Soherdod ?

(1) QRHVIM

(2) QRGVIM

(3) QRHYTM

(4) QRHUIM
Options :
1.1
2. % 2
3. %3
4, % 4
Sub-Section Number : 9
Sub-Section Id : 209963170
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 61 Question Id : 2099631522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§ o B0k AEcoh DRl



BEAUTIFUL 1s coded as 986154210 and TUBEFUL 1s coded as 5198210, then
the code word for FUTILE 15

BEAUTIFUL 9 986154210 e do8asw TUBEFUL 5198210 reédy §6
3548, FUTILE & §& ¢k

l
2

) 214408
) 216408
) 215408
)

2
J

-

(
(
(
(4) 215308

Options :
1. % 1
2. % 2

3.3

4, % 4

Question Number : 62 Question Id : 2099631523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving DB e

C. Coding and Decoding Problems
§coh 208ok a8 doh DR



If NATURE 15 coded as ANUTER. then the code of ABACUS 15

NATURE 9 2r5) ANUTER m 86 disigyo, ABACUS g 86

() BACASU
() BAACSU
(3) AABCUS
(4) ASUBCA

Options :

Question Number : 63 Question Id : 2099631524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§coh Bu8at GE Ao DRy



[na certatn code language DREAM 15 coded as @! 4 * % and FROG 15 coded as

< 17> then the code for FREEDOM 1s

53¢ 8F e’ DREAM o) @' # %% 08050 FROG & < 17> midy €&
5, FREEDOM b, €6

) <l@e#%
Q) <%
() >#6%
W <M

Options :
1. %1
2.9 2
3.%3

4. % 4

Question Number : 64 Question Id : 2099631525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
o 208aky a8 G0 DR



If MOLES 15 coded as 64 and STATE 1s coded as 65, then the code for CENTRE

1§

MOLES 9 64reiy snBafn STATE Q) 63 ey 86 325, CENTRE Qs

56

Question Number : 65 Question Id : 2099631526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§ o B0k AEcoh DRl



If COMPUTER 15 coded as OCMOVTRE. then the word coded as LAPGBBTE 1s
COMPUTER & OCMOVTRE  §& &%, LAPGBBTE m §& daberds ddo
1) ALHPABTE

(
(
(3) ALAPHBET
(4) ALPHABET

[) APLAHBET

Options :

1.%1

4.9 4

Sub-Section Number : 10
Sub-Section Id : 209963171
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 2099631527 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

The year 2025 ends with the day
2025 3 Roaseyddw ) Berd durbiod?

Monday F0ardo
Tuesday ofiFardo
Wednesday AVANVE

Thursday Hdardo

4. % 4

Question Number : 67 Question Id : 2099631528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

The ratto of the acute angles between the hands of a clock at 5.10 am and 5.20 pm

IS

8 AGAERGo8 &rsao 5 ot 10 . 08, Fakedo 5 ot 20 . v
g i otk €20 © A3

(1) 21:8
0) 19:7
(3) 19:8
@ 17:5

Options :

4, % 4

Question Number : 68 Question Id : 2099631529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

What time between 4 O'clock and 5 O clock will the hands of a clock be on the

same straight line but not together?
o iatedo 4 duboto § ot o’ a3 s oo dogpen
D& orseoor o8 0o D Gotpan?

D B2 i )
(1) 5411111111. past 4 4tfo. 4 m
D 532 min past 4 bo. 532
1 1
- i
G) 49 ot past 4 4tbo. 491 15).

@ 512 min past 4 4o, 5122
1 1

Options :
1.9 1

2. % 2

Question Number : 69 Question Id : 2099631530 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving “fomﬁ"é FES

D. Date and Time & Arrangement Problems
B, D000 B WBSL DAV

A 1 my father’s brother's wifes son. Then, A 1s related to me as

A &5 T doging Tl o) imdocy . s T A QiFee?

(1) Nephew ROV

)
(2) Brotherm-law — epd

(3) Grandson ARG
(4) CousinBroher Yoo

Options :

Question Number : 70 Question Id : 2099631531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY

2. Problem Solving

m&s FE

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

Three persons A, B and C reached a railway station m stch a way that C reached the
statton 53 mumutes before A while B reached 1 hour 15 mumutes after A reached the

n. Further A came to know that he reached the station 30 mumutes before the

scheduled departure of tram at 11.10 am. By how much time C reached earlier than

B?

A, B ook € e wrbd) xR Q@S %33”15 2 & §ob @@DA‘J Dedorr 3SR,
A Sml 55 9. &0 swochre € ddEar, B, A 9;53 | f0.150. & eﬁo‘f’o?gom
BSOS, o Go w0eBdES bé%@ Qa0 1110 20 6 309 &0
Sochre A %J)KJE) &) 5(1353:)&@303@, B §7) o iabo otk C 9 fgﬁ.’ﬁ

2 0Rn?

2 hours 20 mmn
2) 2 hours

(1)
2
(3) 2hours 10 mum
(4) 2 hours 40 min

Options :
1. %1
2. %2

3.3

2 0. 20 Q.

2 (o
2 (§0.10 Q.

2 (fo. 40 Q.



Question Number : 71 Question Id : 2099631532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving BTy s

D. Date and Time & Arrangement Problems
B8, Ddoao ot ity QD[

Ashok wants to make a trip of 30 km by bicycle. He leaves 3 mumutes late, but
travels | kmph faster and arrves on time. Then the speed of cyclist Ashok (i knph)

1S

oS 69 230 D 308,85 3 DmpR0tr). 3.0 BRRTT 0tk Bdco
0 ot 2,8 8. SR o) 931 i Soshotrd. Y 8B
o0 08 diug) o (f./ ¢ o)

!
)
) 27
5 0

|
L

(1
(
(
(
Options :

1.1

2. % 2



3.%3

4, % 4

Question Number : 72 Question Id : 2099631533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving :atn&*g Fe5d

D. Date and Time & Arrangement Problems
B, DB00oH0 B WBSL DAV



Five persons P, Q. R, Sand T sit around a circular table facing centre, as described
below. T is second right to R and is also 2**left to P. Q and S are neighbours to T.

S 15 not sitting between R and T. Then who 15 to the mmmediate left of P?

oo Sien PO R, 8, Ten w6 wg e SomDRNOTT &
e SrG\F)E. T R RS GG PR Gocs) 7€) 03ss PY
Q0 Bocis) e e, T B0 999 Q obay Sew ). R sobat To
oy § 4rGBc. R, P & Dol A 94 630 Hh?

() T
2 Q
3 R
@ S

Options :

4. 4

Question Number : 73 Question Id : 2099631534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY

2. Problem Solving R e

D. Date and Time & Arrangement Problems
A8, Do Hboin esndse R

Let mandn be any integers.

[fman=3m+2n, mfn=2m+3n
and myn = m* +n*, then (1a2)p(3y4) =

m, 1 R PG Rogjeur G5 iw.

man=3m+2n, mpn=2m+ 3n Hbodw

myn = m?* + n? e, (1a2)p(3y4) =

Options :
1. %1

2. %2



4, % 4

Question Number : 74 Question Id : 2099631535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving “fo:nﬁ"g Fe5d

D. Date and Time & Arrangement Problems
B, DB00oH0 B WBSL DAV

If a@b:ab+banda*b:§—j,then (192)+(364) =

ab = a” + b oBoty a*b:% 0N, (1H2)x(3H4) =

n =2
44

3 2
47

() “
41

W ¥
41

Options :



Question Number : 75 Question Id : 2099631536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving BTy s

D. Date and Time & Arrangement Problems
B8, Ddoao ot ity QD[



For real x, y
Let xVy=(x+y)*+(x=y)*andxAy=(x+y)* - (x-y).
157 (6V(=7)) =xV (1A3), thens? =

%, TR0 N00S)

aVy= (et y)+ (o-y) Sba xny = (et y) - (e-y)°
905 AR,

SA(6V(=7))=xV(1A3) wowd, =

Options :
1.4 1
2. % 2
3.%3

4. % 4



Mathematical Ability

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 76 Question Id : 2099631537 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20996323
2

Online
Mandatory
75

75

75

Yes

0

1
209963172
Yes

null

SECTION — B : MATHEMATICAL ABILITY

1. Arithmetical Ability

e905¢5edeh av.mgé@



3 2_?4 _
(1y 2
2) 1
2
(3) 4

e | =

Options :

4. % 4

Question Number : 77 Question Id : 2099631538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90St5edeh &»mgﬁ@



GG GG« .
s 31\ (51 312451
-l

]

1580
1581
1582
158:

]

2
3
1

]

)

(1)
2)
3)
(4)

]
b

Options :

4. % 4

Question Number : 78 Question Id : 2099631539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90St5edeh bv.mgé@



1 H4A+ZB+ZC_
g 2 3B+C

1 flai ey B
- f0i B:C=-:= o), ————=
5 8'7 3B+C

1z
65

(2) 29
65

(3) 65
29

(4) &
27

Options :

1. %1

Question Number : 79 Question Id : 2099631540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

005 iedeh aomgé@



Ratio of two numbers 1s 3 - 5. If x 15 added to each number, then their ratio becomes

7 3. The sum of squares of those numbers 1n terms of x 15
ot D03 g 3 : 5. 8 0 x o Sy ) Ay 7:5

BODRRYCD, 8 0RO 2o 1 HTR

R
()25x

g U
()SGx

Options :

1. %1

4.4 4

Question Number : 80 Question Id : 2099631541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh &mgée‘_’a

2+4/3 ) T 11
_|_

V2+y2+V3  V2-y2-3

(1) 2v2

2) 32
(3) 2

4 V2

Options :

Question Number : 81 Question Id : 2099631542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKieded &mgée:’a



a=V4+V15 b=yVd-VI5=a+b=

(1) 22

Question Number : 82 Question Id : 2099631543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

00 ciedeh snmgé@



Let a be a two-digit mumber and b be the number obtatned by reversing s digts. If

ab = 7663 then the difference of these two numbers 1s

0 28 Botio3 g 8 dodaly b OV ‘é}o&)é@ﬁ %) 09080) HKPE) S0
iy ;1303_35 0908 0. ab=7663 900, & Goc Do ARG

Question Number : 83 Question Id : 2099631544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e905¢5edeh an.mgé@



The untts digat m the number 61 X 62 X 63 X 64 X 66 X 67 X 68 15

61 62 % 63 X 64X 66 X 67 X 68 & oy .8 Fdod w03

4. % 4

Question Number : 84 Question Id : 2099631545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90St5edeh bv.mgé@



IfLCM of 31,32, 35,36, 37,38, 39, 40 and 43 15 N, then the LCM of 31, 32, 35, 36,
37.38,39, 40,43, 44,45, 48 and 50, 1n terms of N, 15

31,3235, 36,37,38.39, 40 sndatn 43 © &k, N eosogood,
31,32,35,36,37, 38,39, 40,43, 44, 43, 48 o0t 50 & &k, N devee”

4, % 4

Question Number : 85 Question Id : 2099631546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh &mgée‘_’a

Which of the following is not a divisor of 7% = 17

& 300 S T -1 Hrato #B ?

Options :

1. %1

Question Number : 86 Question Id : 2099631547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

005 iedeh aomgé@



If&ﬁ§=§,WMmeMQMﬂdMkamm&mmSp—qz

0.375 = z D, 0 FoE Do), wad, 3p - g =

(1) 23
0) 19
(3) 5
(4) 2l

Options :

1. % 1

2. % 2

3. %3

4.9 4

Question Number : 87 Question Id : 2099631548 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90St5edeh bv.mgé@



1000 {(0.07776)s + (01253 =

Question Number : 88 Question Id : 2099631549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

005 iedeh aomgé@



Ascending order of the numbers

65 41 13 25 37
————— 1S

(1) 13 41 65 25 37
14’40’ 63724’ 35
(7) 13 65 41 25 37
v S P s e . e
14’6340’ 24" 35
(;) 13 25 41 65 37
14’247 40" 63’ 35
(4) 37 18 4 65 25
35° 14" 40 63" 24

Question Number : 89 Question Id : 2099631550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e905¢5edeh an.mgé@



Decreasing order of the numbers

7-43,8- 37 4-\156-4355- 26 1s
7-43,8 = 37 4 = 15,6 = /35,5 - 2/6 © @80 &0

(1) 4-15,8-3V7,7-4/3,6-+35,5- 26
(D) 7-4/36-4355-26,4~15,8- 37
() 4-V15,5-26,6-35,7- 4/3,8-3{7
(4) 8-3V7,6-1357-4/3,5- 26,4~ 15

Options :

4, % 4

Question Number : 90 Question Id : 2099631551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKieded &mgée:’a



If (v +2y) percent of x + 2y + 3z 15 same as (2y + 3z) percent of x + 2y + 3z

then the relation between x and z =

Y+ +328 (x+2y) o x + 2y +328 (2y432) TS ddro
B, 1,7 O &0e§] Rotodian

(1) x=4
(2) x=6z
(3) x=3z
(4) x=5z

Options :

Question Number : 91 Question Id : 2099631552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

005 iedeh aomgé@



, , , |
I the sum of two mumbers 15 = of the first number, then the second number 1§ what

percent of the first number?

30 020 Ao 2 duay = 6 08, 1 Bt oy 2 oy
208 Fd0 ?

4, % 4

Question Number : 92 Question Id : 2099631553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKieded &mgée:’a



The cost price of an article 15 C and 1ts marked price 1s M. By allowing a discount of

10%, on marked price, one gatns 10% profit. Then the relation between M and C 1s

08 S0 § ) C, o 05838 3o M. 886 dup 104 @Qfg 10% erdo
Jrod. &), M avban C o 51)(35 oot

(1) 1M=9C
) M=11C
B) M=13

Question Number : 93 Question Id : 2099631554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e905¢5edeh av.mgé@



An article costs Rs. 12500, Marked price 15 fixed 30% extra over its cost price and 1s
allowed 8% discount while selling. If the article 15 sold out, then profit earned (in

Tupees) 1s

8 o) gy, §3) Jo dr. 12300, 8§30 Sof) 30% eddom pths Jud
Jrdoc), 8% @go@e? 0 SRR B S o (dr.06 )

(1) 2540
(2) 2405
B) 2650
() 2450

Options:

Question Number : 94 Question Id : 2099631555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh Sﬂmgée:’a

Three persons A, B and C enter 1nto a partnership business with the tavestments i the
ratlo §: 4 3. A withdraws his mvestment at the end of 6 months, B also leaves the
bustness by withdrawing his mvestment at the end of 9 months. C continues till the

end. Ifthe year-end profit 15 Rs.1530000, then the share of A (1n rupees) 1s

A,B, Cen 28 epribiag o) 5243 236 dlchod ododd.
Jow i A & (et ol Jybod. 9 o 6 B &ree & by
ool Ayodid. C Mberse el Edbod. Rosddyrod erdo

a.1530000 oy, ergod” A Qg i (drod)

(1) 630000
(2) 450000
3) 540000
(4) 360000

Options:
1. % 1
2.¥ 2
3.%3

4. % 4



Question Number : 95 Question Id : 2099631556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKieded avmgée:e

Two persons A and B begin a jont venture with the mvestments i the ratio 4 : 3.
Another person C jotns the business in the beginning of 3" quarter with an fnvestment
equal to that of A. In the year-end profit if the C’s share 15 Rs.244000, then A’s share

(1n rupees) 1s

ABed 4§ Dds dpec o el ) ool durt
3P0 ool A Dt Adedinond Doucd C el drg o
J6%. Dodemod eded’ C qogy e dp. 24000 e, ool
Adivg) ot (6706

(1) 214000
(2) 485000
() 322000
(@) 122000

Options:

1. %1

2.



Question Number : 96 Question Id : 2099631557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e905¢5edeh av.mgé@

Two pipes A and B can fill a tank in 6 hours and 8 hours respectively, while pipe C
can empty the tank in 12 hours. Ifall the three pipes are opened at the same time,

then the time taken to completely fill the tank 15 (1n hours)

G0 om0 A, Bew 8 EJ°750§ D S 6, 8rotwd’ Ao ﬁ@)e’i, C o e
J0w) A 12 fobwd’ 4 Sabrioch. 1 ARc) Do 2EF0 860 Godd,
8 7008 Q74 ot o didato (fo.0 )



Options :

Question Number : 97 Question Id : 2099631558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh an.mgée:e



There are three taps A, B, C which are used to fill an empty water tank T. A can fil
the empty tank 1n x hours, B and C mdividually empty the full tank 1n y and z hours
respectively. When the tank 1s empty all the three taps are opened. Then the time taken

to fill the empty tank 15 (In hours)

Ted g 220 3 68 2 dodemdd A, B, C e oy ey 60,
S A ard 893 x doboS o 8 B, Cen DD ST , 2
oS’ a7 Sabrivi). © 5 PO G)N & R0 Ao 863,
§8 2octrdd o o (o0

(l) Xyz
Xy=yi=ix

(2) xyz
yz=Xi-Xy

3 xXyz

( ) Xytyz-zx

( 4) XYz

Xy+yz+zx

Options :

1. %1

2.¥ 2

3.%3

4. % 4



Question Number : 98 Question Id : 2099631559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

005 iedeh aumgé@

Mohan goes to his office by walk. If he walks with the speed of Skmph. he will be
late by 4 minutes and 1f he mereases his speed by 1 km, he reaches 4 minutes early.

Then the distance between his home and office 13

i3 880 STUORS AP DT, w6 ot § .. St 423
4 HYaren SOROT, 283¢ 08¢ 3 Moy 2.3, 2008 4 IaFen 0T
SO0, 8. 03¢ QoS Wﬁ@&iﬁb@ :DQS ¢rdo

(1) 4km 4.
() Jkm 3.
(3) 35kma.a.
(4) 45km&b.

Options :



Question Number : 99 Question Id : 2099631560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

00 ciedeh bvmgée:e

A car leaves the station A with a speed of 60 kmph and arrives at station B m 40
minutes. From B, the car moves towards the station C and reaches m 40 munutes. If
the average speed of the car 1 travellmg from A to C s 80 kmph, then the distance

between A and C (1n k) 1s

o) 60 2.0, o 2.¢ 50 A &0 *?3;15 Lot wahevds %}3:15 BS) 40906
dedo) 0. B ol C ?g:ﬁ & 000eud0 40 9. of Shaotned. A Dok € &

Soireod” 5 g ik o flobeh 80 3.0, wond, A, C v doc cirtio
208

(1) 120
0
3
{

Options :

) 1%
) 140
) 100



1.9 1

Question Number : 100 Question Id : 2099631561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

005 iedeh aomgé@



Three persons A, B and C together can fimish a job i 18 days. B and C together can
finish the same job m 43 days. A and C together can finish the job i 24 days. If A,

B. C indrvidually fmish the job i dy, dy, d5 days respectively, then dy: dy: d3=

Soroch dgoen A B, € ew B 2.8 00 18 Bvod ypiidaiods. B,C e
atde 0 & DY 45 Bl g dabriod. A, Cen agde 60 oF 5
24 Beod ptdabiod. o 930 A,B, C e A 79 dofued o
Baen S dy, dy, dy sy, dy:dy:dy=

(1) 3:8:10
) 5:12:20

4. % 4

Question Number : 101 Question Id : 2099631562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh av.mgée:e

One day work m performing a job by three mdividuals P, Q. R are i the ratio 6: 3 : 2.
[fQ and R together can fmish the job i 9 days, then P and Q together can finish the

samme job 10 how many days ?

28 D30 7 doduerd oo dpgpen P, Q R o ¢ B 00 @ 6: 312
0, Rew aieh SR 590 ¢ Baod So0idAs, P, Qu ENEUARA) Baod
70 dabrivd?

Options :
1. % 1
2. %2
3.%3

4.9 4

Question Number : 102 Question Id : 2099631563 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e905¢5edeh av.mgé@

Constder the rectangle ABCD with E. F betng pomts of trisection on BC. Then the

ratio of areas of quadrilaterals DABE and DABF 1s

BC D 8ersde Dochah)en E, Few i ABCD a8 &g 9E00R0. WY,
addneren DABE aodako DABE © garer(y dand

Options:
1.9 1

2. % 2

Question Number : 103 Question Id : 2099631564 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

005 iedeh avmgé@

Constder the figure given below, where 1 ABCD 15 a square and EDC 1s an equilateral
triangle. Let a be the side of the square. Find the area of the shaded region (in sq.

units).

So0) QLA 0" ABCD 28 58060, EDC 8 widoemem gebao w0 €0).
o ka0 oo a e080c. oo, & b Sabndd grod g 08 ol
(&.ahr.0f)

E
D ¢
A B
(1)
@ 2
3
(3) «



Options :

Question Number : 104 Question Id : 2099631565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh &mgée‘_’a

If the ratto of the heights of two cones C, ;15 2 : 5 and thetr diameters n the same

order are mthe ratio 6 ; 7, then the ratio of their volumes 1s

B0t Bosien (1, 0w Qg 2 : 5 oo o givod o8 o
N3 6:7 98, T 203 DOSreEe VAN

(1) 36:49
Q) 425
() 72:245
) 53:205

Options :



Question Number : 105 Question Id : 2099631566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

005 iedeh aomgé@

If the vertical angle of a right circular cone 15 90° and its slant height 15 20 cm, then

s volume is (it cm’)

28§ @0 foai) 3¢ a0 90° 0By T e I 20 dn., B
o 008r0 (0.0, o6 )

(1) 20027
3

() Lown
3

) 20007
@ 100042




Options :

Question Number : 106 Question Id : 2099631567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh an.mgée:e



A rectangular room has floor dimenstons 9/t x 12 ft, with the height of the room
being 9 £t Four walls are to be pamted. If the pamting cost per sq.ft. 15 Rs 40, then

the total cost for paintmg four walls (1n rupees) 1s

28 0F by 1 Jo Soden 9 etrben x 12 ecrben doboty & b
3 carben. & fil aos) e A% dor Sabwd &) 0. 98 o o6
28,008 67.40 Sy & (16 et fioy dorh S ooy 9y (6r.06')

(1) 16000
) 15240

Question Number : 107 Question Id : 2099631568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh Sﬂmgée:’a

There is a rectangular field of dimension 250 X 200 m*. Ttis decided to go for fencing
along the boundary, with a provision for a gate of width 4 m along the smaller side.
The gate costs Rs.15000. The total expenditure including gate cost, mcurred i fencing

this freld 1s Rs. 131480, then the cost of fencimg (only) per meter 1s

28 O 0ty Ego Seden 250 x 200 N, Ry 0 4 . AN
it S 30 dfee e Sod Sty Aowol), A 6t 6215000,
() 90H bt oo S Pt Db wey . 131430 wwd 98
Qe Sod SaE By

1
)
;
4

125
130
140

(1) 123
Y
)
@ 145

Options:
1. % 1
2.9¥2
3.%3

4. % 4



Question Number : 108 Question Id : 2099631569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKieded avmgée:e

The radius and slant height of a cone are 1n the radio 3 : 14. If its curved surface area

22

15 3520 cm*, then the radius is (in cms) (take 7 = =)
/

08 o) g iFdo dndaky dtren deoen 5+ 14 A3 ey .
) g0 Jr0j0 3520 o, 230.00. DO T o (0. o)

(an= %m 5080 )

Options:
1.9 1
2. %2
3.%3

4. % 4



Question Number : 109 Question Id : 2099631570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKieded anmgée:e

The remainder when 37°° is divided by 8 is

379 & 8 & erfoddch ©Dod B0

Ly |

(3) 7
(4) 1
Options:
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 110 Question Id : 2099631571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh &mgée‘_’a

The smallest posttive mteger with four digits that satisfies 13x = 1(mod 15) 15

13 = 1(srdo 15) B d 208 o3 dowppe €03 ¢ Hoay

1) 1012

(4) 1073
Options :

1.1

4. % 4

Sub-Section Number : 2
Sub-Section Id : 209963173
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 111 Question Id : 2099631572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aﬂémé{:ﬁj 3“&11}%693

Let § = {k |kis anatural number, 1<k < 150},
A=1{k€eS |kisamultiple of 6} and
B={keS |kisamultiple of 10}.

Then the total number of elements in the set (A UB) - (AN B) is

8= {k flews e oy, 1< k< 150
A={keS |o s doedao k } dodaty

B={keS |10 cug), fordeo k) ooy
(AUB) - (ANB) &3 ADAED Ao dures oz

L} i
L =

Options :

1. %1

2. %2



Question Number : 112 Question Id : 2099631573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DB, aﬁﬂéméodj avmgée:a

A={xeR: |[x-3| <3}, B={xeR:|x-2|<4 =24nB =

Question Number : 113 Question Id : 2099631574 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éotb &mgéa

If p(x) = x* - x* - 8x + 12 and g(x) = x> + 4x* - 3x - 18, then GCD of
p(x) and q(x) 1s

p() =0 -t =8+ 12, q(x) =x* +4x* - 3x - 18 wawd, p(x), q(x) ©
(.25,

4, % 4

Question Number : 114 Question Id : 2099631575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aaﬂéibéodj 3"8{1}%@

If the sum of zeros of the cubie polynomial p(x) = 3* ~ k(k - 2)x* + 6w + 24 is

5, then the possible values of k are

p) = 36" = k{k = D)’ + 6+ 24 &5 209 im0 chug) 430 Jdo S
BIN, k 500335 D

Question Number : 115 Question Id : 2099631576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

[fp(x) = x* + 2x* + ax + b, leaves remainders 0 and | when divided by x - 1.

and x - 2 respectively then a + b? =

p(r) = + 2% v+ -1 obatox - 2 i epfiocte iy 2arew
Sthare 0, 1 wand. a® +b* =

Question Number : 116 Question Id : 2099631577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

The remainder when ¥ + 3x* + 7x - 6 divided by(x - 2) is

BT =6 2 (x-2) & erhoddii 0dod 0

4. % 4

Question Number : 117 Question Id : 2099631578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éa‘.b &mgéa



The common solutton of equattons 12x = 7xy + 12y = ( and

12 + 5wy - 24y =0 15 (xy,y,). Thenxg 4y =

12x=Try +12y = 0 dodoto 121+ 5xy - 2y = 0 &3 e ey
PO (1, 7y) 008, x; 47 =

Options :

1. %1

Question Number : 118 Question Id : 2099631579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%0, eaﬂéﬁjéotb 3"&1}%5@



x=\/5+m,y=\/5—m=>x+y+xy=

(D) 2414
(2) 4++14
(3) 4-V14
4) V14-2

Options :

Question Number : 119 Question Id : 2099631580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%, eaﬂéf.béodj avmgée:&



15x+4y+52

If ¥*+y* 42 =xy+yz+zxx 20, then ——— :

Br+dy+dz

X4y 4zt =xy+yztzox # 0 wond 8
X

Question Number : 120 Question Id : 2099631581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D0, eaﬂéibéodj 3"6&33?5@



Ifthe 10™ and 20 terms of an arithmetic progression are 66 and 106 respectively.

then the 15 term in that progression s

28 @0s3A6° 1023 bty 20 e S 66 by 106 wandincs,
336" 155 9o

Question Number : 121 Question Id : 2099631582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%, eaﬂéibéotb .5‘“6.{13%?5@



If p™and g™ terms of an arithmetic progression are ¢ and p, then 2024 term in that

progression 1§

8 053§ pid Bty q & e Sdar q $06000 p vad, & 3E¢° 2024
RN

(1) p+q-2023
() p+q+2023
(3) p+q-2024
(4) ptqt2024

Options :

4. % 4

Question Number : 122 Question Id : 2099631583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DB, eanéa;éom &mgée:a



cot @ ::f% ::>%%§%?§::

(1) 20
(2) 18
(3) 30
(4) 28

Options :

1. %1

2.9 2

3.% 3

4. % 4

Question Number : 123 Question Id : 2099631584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aaﬂéibécda ammgée:a



sin®30° + cos* 45" + sin® 60° 4+ cos® 120° + sin® 150° =

—
——c
S
] o2

—
2
o —

ro ol oo

—,
L ]
j —
P—-.h

4.4 4

Question Number : 124 Question Id : 2099631585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D0, eaﬂéibéodj 3"6&33?5@



If acsf+bsinf=c, and asinf-bcosf =d, then

acosf +bsind =c, 2vbosv asing - bcosf = d @AW,

(1) a*4b*=ct+d"
Q) a*-bt=ct-d
(3) a*+2b* =3+
(4) 2a*+3b*=c* 4

Options :

Question Number : 125 Question Id : 2099631586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D0, eaﬂéibéotb 3"6&38?5@



5 4

2
cos“ 8 =
1+cot? @ T 1+tanz 6 T

(1) 1
2) 9
(3) 5
4) 0

4. % 4

Question Number : 126 Question Id : 2099631587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéh_véodj &mgéa



CD is a tower of height 25v'3 m. with the top of the tower being D. A, B are two
pomnts collinear with C lying on same side. If a person sanding on top of the tower
observes that angles of depression of A and B are respectively 30° and 60°, then the

distance between A and B (in meters) 1s

2573 2. 2db o e oo (D dbug) 3do D. C8 3o &8 o o

Boc Dothien 4, Bew oo oot 28 8 A, B i) Eemen ddomre 30°
bt 60° 1P isododlitond, A, B o e crdo (.06

Question Number : 127 Question Id : 2099631588 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éotb &mgéa

[n the following figure what 1s the value of x ?

308 260’ ¥ e o ?

(1) 37
() 385
(3) 50
(4) 36

Options :

1. %1

2. % 2

3.3

4, % 4

Question Number : 128 Question Id : 2099631589 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éotb &mgéa

[f the bisectors of angle ZABC and ZACB of a triangle ABC meet at a point 0 and if

(A =60° then ZBOC =

3o ABC € LABC, 2ACB & ¥ 5080t B i 0 iy
1A= 60° wvd, £80( =

4. % 4

Question Number : 129 Question Id : 2099631590 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, eﬁﬂéméa‘b 3“&)%@

I the following figure, 1f ABCD 15 a square and the circle with centre O 15 of radius

6 cm, then the area of AEAB (1nsq. crm) 15

& 300 o8 ABCD 28 t3e0tiyo, 8ok 0 & Soghore QQKJ ) J”éﬁf’go
6 20.00. AN, AFAB el 3200, 08

E

AN

Options :
1.4 1
2. %2

3.%3



Question Number : 130 Question Id : 2099631591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%0, w&ﬁsécﬁj 3"&{1}%@

Suppose ABCD 15 a quadrlateral. If the sum of the lengths of perpendiculars drawn
from A and C onto the diagonal BD of length 10 cm 15 18 cm., then the area of the

quadnlateral ABCD (m sq.cm) 15

ABCD D sypom O, A, Ced ocbidyo o 10 200, Teh
v BD &3 e 203 Aabeds ot Tew Ando 18 Ho.2. B,
ABCD oy 3o (Sn.bof

Options :

1. %1

2.



Question Number : 131 Question Id : 2099631592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéf.béodj avmgéa



[n the following figure unit square 1s given. What 1s the area of shaded region”

' BT
(take 7 = 7) (1n 5q. units)

8§00 Dol oy Fejo 1 dakar. B Sabndd o g0

(7= §35:08) (Sctiref

) ¥
28

0 Y
28

() B
28

s
28

Options :

Question Number : 132 Question Id : 2099631593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éodj E:romgéa

In the triangle ABC, if 24 =x"+y° ¢B =60"+y" and

£0=50°-x" theny =

boso ABC & 24 = 2"+ 2B = 60" + y° Sobotv
£C =50 - 2 wowadipd, y =

>
=

Question Number : 133 Question Id : 2099631594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aaﬂéibéodj 3"8{1}%@

The largest possible value of k such that the distance between the potnts

(k,3) and (4 k) 15 5 15

Dochoshen (k,3) bty () © oo 5 st k & iy iy
2Des)

famp ¥

4. % 4

Question Number : 134 Question Id : 2099631595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

A(-1,3),B(2,-5) and (4,6) are three points. Then the equation of the straight line

passing through A and parallel to BC 15

A(-1,3),B(2,-5), C(4,6) 0 0p¢ Dockosyen. BC & dsmossborr otir A
ooz by “dvar b0

(1) -2x+4y+17=0
() Mx-2y+17=0
(3) -1lx+2y+17=(0
(4) 2x-4y+35=0

Options :

Question Number : 135 Question Id : 2099631596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéméodj &mgéa

The ratio i which the point P(5,6) divides the line jomng the pomts 4(2,3), B(9,10)

internally 15

A(23),8(9,10) Dochanw 88 39 & P(5,6) & Dot Boddorr Desdod

Question Number : 136 Question Id : 2099631597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéméodj &mgéa

The equation of straight line passing through origin making angle 60°with posttrve

direction of X-ax1s 1

X-tg0 6788 636 60° Stao Siyp sore) Dok core T ey

404000

1) x-y3y=0
@) Vr-y=0
3) y=3
) x=3

Options :

4. % 4

Question Number : 137 Question Id : 2099631598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

The equation of the straight [me passing through the pomts O(0, 0) and A(2, 5) 15

0(0,0), A(2, 5) &3 Dockoidye oz ) advar Hdedemo

4. % 4

Question Number : 138 Question Id : 2099631599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éa‘.b &mgéa



[f the Y-ntercept made by the lne 5x +3y =k = 015 =6 then k=
b+ 3y =k = 0 0 2090 Y-ug0  dabn wotidetio —6 000 k=

Question Number : 139 Question Id : 2099631600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%0, asnéa;éom 3"&{13%5@



[fa and b are X and ¥-mtercepts of the line 3x + 4y = 12 = 0 respectively, then
a' b=

3 +4y - 12.= 00¥80 o, X1~ eodd om0 S0P 0, b e o
at+h =

4. % 4

Question Number : 140 Question Id : 2099631601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DB, eanéa;éom &mgée:a



Equation of the lne passing through P(5, ~12) and making equal mtercepts on axes
1

P(5,~12) 03 Dotk thore ek w0 Qe W wosd Dore Saty
200 Aebédno

(1) x-y-17=0
() x+y+17=0
(3) xty+7=0
(4) x+y-17=0

Options :

Sub-Section Number : 3
Sub-Section Id : 209963174
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 141 Question Id : 2099631602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability
SEESICLES &mgﬁ

The mean of the first 2000 odd positive mtegers 1s

200058 2000 & 8 6 137G Do [0

Question Number : 142 Question Id : 2099631603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

R0aT(ST°R aomgé@



The arithmetic mean of first 30 terms of an artthmetic progression whose first term 1s

2 and the common difference 4 15

008 Do 2, aeroisto 4 P $DAY e0dad & Add 30 v SN

Question Number : 143 Question Id : 2099631604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

SEELEEERS &mgé@



[f the numbers 5,7,6,14 have frequencies x,x +4,x = 3,x + 8 respectively and

if therr arithmetic mean 15 10, then x =

576,14 © T QR0 SR 1,1+ 4,13, + 8. ) @08iocfioo 10

oA, 1 =

Question Number : 144 Question Id : 2099631605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

ROP(ETR) aomgé@



Median of the following grouped data is

308 3088 ot g docifido
n =L

(lass mterval r
a0 iy | L0720 | 20-30 ) 30-40 ) 40-30 | 50-60

Frequency
s Qo ) 10 13 \ 2

Options:

Question Number : 145 Question Id : 2099631606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

SEELEEERS &mgé@

[na data 1t 15 observed that the numbers 3, 3, 7, 11, 13, 17 appeared respectively

13,21, 29,49, 53,69 times. Then the median of the data 1s

28 Ggrosed voajen 33,7, 11, 13,17 ORR) S 13,21, 29,49, 53, 69 a0y
orbdomab) fldode & toto dhos) o

4. % 4

Question Number : 146 Question Id : 2099631607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEESICLES &mgﬁ

[f the mods and median of a data are 10, 8 respectively, then the mean 15

WSS (0tR)) erePuio oty dociferen SERT 10, 8 £0 addRC, ¢

(808 B0 o
(1) 14
0 20
) M
Ol
Options :
1. %1
2. % 2
3. %3
4. 4

Question Number : 147 Question Id : 2099631608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEEL LS &mgé@



Mode of the observations 18

308 HOFVIL POV

2,3,0,4,5,02,3,0,3,2,0,2,5,0 2,456

(1) 2
(2) 6
(3)
(4) 4

Options :

1. %1

2.9 2

3.% 3

4. % 4

Question Number : 148 Question Id : 2099631609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION — B : MATHEMATICAL ABILITY

3. Statistical Ability
SEELCLES &mgé@



[f two dice are rolled at a tine, then the probability of getting a sum of 6 15

Toc gl .8 280 B e, o ) 8030 o 6 el dubded
A

4, % 4

Question Number : 149 Question Id : 2099631610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEEL LS &mgé@



The following string of numbers show the mumber of children that 13 selected
famileshave 1,2.3.1.4.3.21.23452.1.1

Then the probability that a family selected randomly will have atmost 2 children 15

Jodd aloerds) 154enceres dow Ponfo & §ob) dopfo 2ded Aol
RERERLRRER L SAN ]
i Sore doid S ewonol” 830 9 deenodt B deepyd

Question Number : 150 Question Id : 2099631611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEESICLES aomggefa

Let A={1,3,5, . ..,99}. An element x 15 chosen from A randomly. Then the

probability that x 15 a perfect square 19

A= {135, . .., 99} ool 4 oo o8 durodo v afpehdh o JocoiD,
vBipd 3o escﬁ)]socim 0Py

Options :
1.4 1
2. % 2
3.%3

4. % 4

Communication Ability

SectionId : 20996324



Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38

Section Marks : 50

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 209963175
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 151 Question Id : 2099631612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings
Someone who criticizes cherished 1deas or beliefs 15 a/an

(1) numismatic
(2) 1conoclast
(3) doctor

(4) scientist

Options :



Question Number : 152 Question Id : 2099631613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

The government policy 15 to make India self-reliant. It encourages

ndustry.

(1) foreign
(2) tndigenous
(3) non-local

(4) unavailable

Options :



Question Number : 153 Question Id : 2099631614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

When Rajesh was asked to mtrospect himself by his teacher, he meant to

carefully

(1) examine his own thoughts
(2) lookupto

(3)  look forward

(4) ook out

Options :

Question Number : 154 Question Id : 2099631615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings



My friend wavered between two opinions.

(1) decided
(2) hesitated
(3) thought
(4) arrved at

Options

1. %1

2.9 2

3.%3

4. % 4

Question Number : 155 Question Id : 2099631616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings



He was kind. He was even towards his opponents.

(1) magnificent
(2) magnanimous
(3) foolish
(4) unkind

Options :

Sub-Section Number : 2
Sub-Section Id : 209963176
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 156 Question Id : 2099631617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms



What 15 the antonym of ‘noble™?

(1) mnoble
(2) umnoble
(3) 1gnoble
(4) disnoble

Options :

4. % 4

Question Number : 157 Question Id : 2099631618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms



The antonym of amateur

(1

) layman
(2) professional
)
)

3

(4) incompetent

non-professional

Options :

4, % 4

Question Number : 158 Question Id : 2099631619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms



The synonym of ‘compassion’

(1) compress
(2) kindred
(3) kindness

(4) compromise

Options :

4, % 4

Question Number : 159 Question Id : 2099631620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms



Synonym of ‘prompt’

(1) mustake
(2) wrong
(3) 1nterest
(4) quick

Options :

1. %1

2. % 2

3.% 3

4.9 4

Question Number : 160 Question Id : 2099631621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms



The synonym of eschew

(1) encounter

(2) meet

(3) avoud

(4) accept
Options :
1. %1
2. % 2
3.3
4. % 4
Sub-Section Number : 3
Sub-Section Id : 209963177
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 161 Question Id : 2099631622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



It 15 Twho taking care of his children.

(1) s
(2) am
(3) are
(4) were

Options :

1. %1

2.9 2

3.% 3

4. % 4

Question Number : 162 Question Id : 2099631623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



[ reading the book just now.

(1) have fimshed
(2) fimshed
(3) had finished

(4) am fimshed

Options :

1.1

4. % 4

Question Number : 163 Question Id : 2099631624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



By the time they reached the theatre, the movie already started,

() has
(2) 15 being
(3) hasbeen
(4) had

Options :

4.4 4

Question Number : 164 Question Id : 2099631625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



He daily at 5 am.

(1) 18 getting up
(2) has got up

(3) getsup

(4) has been getting

4. % 4

Question Number : 165 Question Id : 2099631626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)



Who wrote Julius Ceasar? (Change the Voice)

Julius Ceasar written by whom?
By whom was Juliws Ceasar written?

By whom Julius Ceasar was written’

Sub-Section Number : 4
Sub-Section Id : 209963178
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 166 Question Id : 2099631627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



My friend was at loggetheads with his classmates.
(Find out the meanmg of the underlined 1diom)

(1) head on colliston
(2) strongly disagree
(3) deeply m love

(4) 1n close assoctation

Options :

Question Number : 167 Question Id : 2099631628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



Both the teams are playing very well. To choose between the two 15 a real toss-uyp.

The underlined 1diom means

(1) It1s easy to choose the winning team.
(2) Itis deftieultto toss up the com.
(3) Itis difticult to choose the winning team,

(4) It 15 not necessary to toss up the corn to choose the winning team,

Options :

4. % 4

Question Number : 168 Question Id : 2099631629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



The protesting employees were asked to their strike.

1) call over

D

3)  call of

(

(2) callon
3)

(4) call off

Options :

Question Number : 169 Question Id : 2099631630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



He got the train.

(1) of
(2) off
(3) down
4) m

Options :

1. % 1

2.42

3.%3

4.% 4

Question Number : 170 Question Id : 2099631631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



poctor advised him to give up junk food.

The underlined phrase means

(1) continue
(2) start
(3) retain

(4) abandon

4.9 4

Sub-Section Number : 5
Sub-Section Id : 209963179
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 171 Question Id : 2099631632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions



Rama considered Raju OENIUS,

(1) a
(2) the
(3) an

(4) one

Options:

Question Number : 172 Question Id : 2099631633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions



He gave the beggar one-rupee note.

(I) an
(2) a
(3) the
(4) this

Options :

1. % 1

2.9 2

3.%3

4. % 4

Question Number : 173 Question Id : 2099631634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions



The boat moved gently the 1ver.

l

.

) above
)

under

S

(e

) upon

(
(
(
4) m

Options :

1.%1

Question Number : 174 Question Id : 2099631635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Atrticles and Propositions



My friend has been exempted ~ remitting the fee for the exammation.

Question Number : 175 Question Id : 2099631636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Atrticles and Propositions



Though he finished his studies long back, he has been still looking

a job.

Sub-Section Number : 6
Sub-Section Id : 209963180
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 176 Question Id : 2099631637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology



Applet 1s

(1) asmallapple
(2) asmall java application that 1s downloaded from java-based web
(3) browser

() apple berry

Options :

4. % 4

Question Number : 177 Question Id : 2099631638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology



A term used to describe computer's aptitude to mimic human abilities.

(1) Augmented Reality
(2) Artifictal Intelligence

(3) Automation

(4) Bigdata

Options :

Question Number : 178 Question Id : 2099631639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology



One of the following 1s NOT a malware

(I)  Trojan

(2)  Rootkits
(3)  Keyloggers
(4)  Parallel port

Options :

Question Number : 179 Question Id : 2099631640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology



DPI stands for

(1) Development Parameter Index
(2) Dots Per Inch
(3) Dues Payment Installment

(4) Dense Pavement Ivory

Options:
1. %1
2.¥ 2
3.%3

4. % 4

Question Number : 180 Question Id : 2099631641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology



WAN stands for

(1) World-wide Area Network
(2) Web Area Network

(3) Wide Area Network

(4)

Options :

1. %1

Sub-Section Number : 7
Sub-Section Id : 209963181
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 181 Question Id : 2099631642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Business Terminology



What is Stock ?

(1) Anpile of sticks.
(2) Actual goods or materials a business currently has on hand.
(3) Aphrase used to represent a group of abstract things

(4) Another name for tick-tocking

Options :
1. % 1
2.9 2
3.% 3

4. % 4

Question Number : 182 Question Id : 2099631643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology



Asskll that enables a person to anticipate what might happen and prepare for any

eventualty.

(1) Backward Planning
(2) Forward Planning
(3) Ad-hoc Planning

(4) Action Pomt

Options :

4. % 4

Question Number : 183 Question Id : 2099631644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology



The reductton 1n valug of assets over a petiod of time 15 called

(1) recession
(2)  deprectation
(3)  apprectation

(4) mflation

Options :

Question Number : 184 Question Id : 2099631645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology



An unauthorized representation of a registered trade mark on goods smlar for
which the trademark 1S registered

(1) Countertrade
(2) Conterfert

(3) Counter
(4) Costplus pricing

Options :
1. % 1
2.9 2
3.%3

4. % 4

Question Number : 185 Question Id : 2099631646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Business Terminology



Costs you must pay whether your busimess 1s domg well or not.

(1) Variable Costs
(2) Fixed Costs

(3) Accounts Payable
(4) Margm

Options:

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

8
209963182
No

null

Question Id : 2099631647 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (186 to 190)

SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



Children have always been taken for granted although reams of documents have
been churned out by mtemational and national agencies tryimg to better the child's
tomorrow, Despite all the words wrtten, promises made and conventions signed, too
lttle has changed. A good proportion of children throughout the world, espectally i
India, form a part of the toilmg masses - destitute, deprved and disadvantaged.
Millions of them work mn fields and factorses, on street corners and m garbage
dumps, 1 private houses and m “public” houses. Most do some work from thetr
carliest vears, helping around the home or running errands? With a low level of
education and rundown sense of soctal responstbility, such children can do much
harm o soctety if they are not treated as equal to others and given equal protection
and opportuntties to develop to the best of therr potental.

The existence of child labour m India 15 a complex reality, a soctal crime, a crime
against humantty. [t 15 a symptom, however, not the disease. It 1s but natural that one
may be tempted to ask why the problem still exsts.

Poverty 1s the principal and parent cause for the prevalence and persistence of child
[abour. Large number of dependent children, parental dliteracy, unstable and poor
mcome, and few mcome-gencrating assets are the more likely reasons for children
ending up working rather than studymg, Some studies reveal higher meidence of
child labour 1 poor single-parent famikies. However, many children work not
entirely because of poverty but because of pressure from parents who themselves it
tdle or demand extra income to satisty thetr various addictions.

Sub questions

Question Number : 186 Question Id : 2099631648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1

Child labour 1s

(1) adisease
(2) asymptom
(3) aboon

(4) social responsibility

Options :

Question Number : 187 Question Id : 2099631649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



What 15 the meanimg of ‘destitute’?

(1) approved
(2) delivered
(3) deprived
(4) designed

Options :

Question Number : 188 Question Id : 2099631650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



The theme of the passage

(1) Manual Labour
(2) Child Labour
(3) Soctal Crime

(4) Social Responsibility

Options :

Question Number : 189 Question Id : 2099631651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



Incidence of child labour 1s high in

[) jomt familes.
2) nuclear families.
3)  single-parent famles.

4)  poor single-parent famlies.

Options :

1. %1

Question Number : 190 Question Id : 2099631652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



According to the passage, Child labour 1s found 1n

garbage dumps

warehouses

)

(2) schools
)
)

old age homes

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

9
209963183
No

null

Question Id : 2099631653 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (191 to 195)

SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2



Ctvilizattons have floursshed n the past and gone on to establish themselves based
on the foundations of singular mventions like use of ron or copper or bronze. While
the past can boast of the tron and the Bronze Ages, our presents days’ smgular
invention, which has become as omnipresent as the tron and bronze tools n the past
ages, 15 the computer. An mvention of miraculous dimensions, computers have
tevolutionized our lifestyles for the better and continue to do so. In less than fifty
years they have influenced practically every field of activity. The Computer Age 1s
our new reality

No one could have imagimed that the tnittal computing machines would so soon be
developed nto the highly sophisticated present day computers. And this stupendous
tevolution has been carried out by the computer without a shot bemg fired or a drop
of blood bemg shed. Computers have taken up key roles m all fields of actrvity
ncluding agriculture, weather forecast, scientific research, designing, banks and
financtal institutions, space research and technology, communication and media,
medicmne, aviation, ratlways, traffic control, language learning, literature and

entertamment.

A computer 15 an electronic deviee that can carry out caleulations and process
tnformation. Vast amounts of data can be handled effectively and effictently at a very
fast rate. A computer can virtually carry out any activity but it cannot think, at least
for now! I thus requires a human operator and a set of detaled mstructions, called
a progran.

Sub questions

Question Number : 191 Question Id : 2099631654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2

What 1s the singular invention of the present day?

(1) Iron and bronze
(2) Computer
(3) Agriculture
(4) Civilization

Options:

Question Number : 192 Question Id : 2099631655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2



Meaning of ‘miraculous’

(1) ordinary
(2) terrifying
(3) amazing

(4) disgusting

Options :

4. % 4

Question Number : 193 Question Id : 2099631656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2



[n which field of activity, computer does not play a key role?

(1) Space research & technology
(2) weather forecast

(3) research and development

(4) geography

Question Number : 194 Question Id : 2099631657 Question Type : MCQ Option Shuffling :
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2



A program mn computer 1S

) data

) aset of detailed mstructions
) virtual activity
)

human operator

4. % 4

Question Number : 195 Question Id : 2099631658 Question Type : MCQ Option Shuffling :
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2



The title of the passage can be

(1

) Iron and Bronze Ages

(2) Research and Development
)
)

Computer : A Silent Revolution

3

(4) Computer Operation

Options :

1.%1

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

10
209963184
No

null

Question Id : 2099631659 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (196 to 200)

SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-3



Now commes the [nformatton Revolution and in s wake comes the 'nefwork soctety’
[thas opened new horizons, and tests to the limit the ability of political and economic
leaders to manage the repercusstons of the changes. And, what changes. Suddenly
those great walls and formidable borders and barmiers seem nidiculously
meaningless. The Internet leaps borders with mypunity-a click of your mouse and
the matertal held on a computer 1 Indonesta gives way to matertal compiled m
Sweden. If Indonesta has difterent rules of decency or probity from Sweden, nothing
much can be done. Furthermore, n the network society the line demarcating public
and prvate communication stmply fades away. All this appears reprehensible to
most of us, for change, and that too rapid change, is not easily accepted by all Easy;
quick and wide access fo miormation m combmation with the ease of
communication between indsviduals mterested im the same fields, the rapid advance
in and stmplification of many technologies have all led to the empowerment of the
drvidual, While this 15 seen as a posttive step by some, there are others who
anxiously pomnt out the negative aspects. Crime has become easter; sitting in ther
tooms persons operating their computers have been able to spinit away billions of
dollars from bank accounts,

Sub questions

Question Number : 196 Question Id : 2099631660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3



'Network society' emerged due to

(1) Industrial Revolution
(2) Agricultural Revolution
(3) Information Revolution

(4)  Silent Revolution

Options :

Question Number : 197 Question Id : 2099631661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-3



The word 'impunity' in the passage means

(1)  lability for punishment
(2) freedom from punishment
(3) 1mpurity

(4)  authority

Options :

4. % 4

Question Number : 198 Question Id : 2099631662 Question Type : MCQ Option Shuffling :
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3



"The internet leaps borders with impunity" refers to

maccessibility of data

)
)
) jumping of data on the Internet
)

Question Number : 199 Question Id : 2099631663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-3



[n the network soctety, the distinction between public and private communication

(1) figures
(2) blurs
(3)  mproves
(4) exists

Options :

4. % 4

Question Number : 200 Question Id : 2099631664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3



‘Crime has become easter’; The word 'crime' in the passage refers to

(1) Violence
(2) simplficatton of technologtes
3) Cyber-crime

(
(4) Information technology

Options :
1. % 1
2. %2
3.3

4. % 4



